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Exercise: Fuzzy Sets for Size of People (2)

m Draw the following fuzzy sets of people:
¢ NOT small
¢ NOT medium
+ NOT tall
+ Small UNION not tall
¢+ not small INTERSECTION not tall

m IS (NOT small INTERSECTION NOT tall) = medium?

-

v Prof. Dr. Knut Hinkelmann MSc BIS/



n w University of Applied Sciences Northwestern Switzerland
School of Business

Solution: Fuzzy Sets for Size of People (2)

small NOT small

NOT small

O ! 1

160 175
1
i NOT medium
medium
0 ! !
165 170 185 190
1
NOT tall tall

NOT tall

O | |

7 180 190
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Solution: Fuzzy Sets for Size of People (2)

small NOT tall

(Small UNION NOT tall) = NOT tall

0 ? -
160 175180 190
NOT small —
1
NOT tall
0 - (NOT small INTERSECTION NOT tall)
160 175180 190 —
. # medium !
medium
0 ‘ ?
165 170 185190 -
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